A - i ~ : 2024.11/23-24
‘;@'J —2ZZn & 2l 220FTIC

— = ETyNLIE
B2 TAA—ITS; 1 1 ﬁ A

235240 ' o | & ECS

1408 o 5 Y

BRI, 58 1 1 o DB ET
W17 ERF10RAZTY \ . - ﬁgaﬁu%i_ 00 iﬁfﬁmﬁ;._ oy i ﬂE 1 1e1.34-8877
2 - ' VCY-LEES TR [l = 34-8850

o8 i P4
20245 iR (Em'-*"fi‘?ﬂﬂn‘iut;ga- 1 \.,.1,/2 / 84 9:00~7 9:00
&

"12H17H).- “Jb-
"12A19R6. g%g EﬁE SEFE :-zi; , il Al TeL 72-2237
= AUIE R e T ﬁ%’ o =L 35-3310
] TeL.33-3322

A~A /EE 9:00~1% 8:00
"A TEL. 35 7211

A~
H1000~E800

11/ *é:.‘:
3&:
T |
10:00--16.00

*vb//'

o SO
) ;0’95980% ®698@‘@-%ﬁ%mﬁe4sm> @2 @d90R T Lo K Y M’w’s

: |\ - = \ A7 < 4 £ <HSEBEAH 1,058 > <BEBUAME 753 24 . BER . " /
o ;ﬁ4,l’ = ~§ 4&( AYRRITE godesal’ SALE g 2 . : ,ssFm:-(x—"ly‘?‘s'v T N7 /&
LD r7J— 1 7 #9270 \e = Sl SV ] ' | I: 910D N

F gYEEL ERY | BN 20 = G ERY ams) 108 | S5 1 4 tane Iis,
. 780: € € 122981 327 »1,5801 | "==7981 N Eks 1985 | > 18803 [-2401%3985 | 21,4805 W, 853! '///

BERAHIEB42 > : <*%ﬁﬂm$§ ] L'| 66 P Y:0m: . eEmimsan) m> < SEHHAME 950 FH>

ey

!

TR
e P

.‘ e "" N '.J-._ e e
—— i -t-,.. ‘___:,-

cmm—

e
oA
ARBIAE

;mVﬁﬁ

.i;‘*_}‘ {

m%u;{xgtax lﬂ"? ﬁlﬁj@%ﬁﬁgﬁﬁ %ﬁ

=g

EIEE%*I]*FI\? ~ R e - Eiiee
i [LLE! : L o F & s . p e & S . il |

N R/
@E*Hd\ﬂﬂﬂm

35081!000% 31&1 0 | TN _‘ rﬁ@;ﬁ] 0=

_ 1P . ~
\ . ouramn1,080 0> § (sEwiAGE 080> <a|'<%mm95 > 278m%| P <o ) | F{TviELELE!
T L T— ~

¥
~
A
u
CIED e

%

\"l’

¥hmETPA R Soaris T~
600gXx3% i @ﬁ ﬁﬁﬁ :

3 LR , N | o | ¢ I_fl ; O e (2~3Aa1) : - L _ D
mmwg g*u@,“)m Wk ool - o o ;zi' ERECERAH #5,000m Al = | nass |
. %ﬁ%}ﬂﬂ!é Agﬂ %21#? S 1 I - | 880% iumrﬂ%ﬁﬁzcgg(i)ﬂ gimmscmom) (=HEAG 3,888F) (BERAEH 4,212F)
53¢ = ; ; : . R &b - _ —

H—BHYDHNELERS
o £ S ZXET

11/ 236+243 2BHEY _ = %to»;gﬁ)wb

EEFE) O | [ Mﬁ& g © .. et 3 Ky 7a—t—

Y AT J" auﬂ.& o g | [EE— SAAC CHIRI7ZSN

b RN S A IR [Tt S

| [SHHEO 33 SNt srHbi ool o
o FCHCTH< A (KIS SIHE

3, At BT S AT St BHIT CEEE TG

ARSI ST Ol

FCB2ERTIR0E , AR [ IFHGR
! iRt SR CACER B AR O

| QT H 0B S Crk-F i, it C
§ EHA [NHNE RO 0N OB o

oS e ELEL R
a3 b) { T —— 4 | 7 (S H % A ICH D)

| : N STy N5 0) | EREET : = 95 e

/’77’9:?3& [ &*Hz 27[5 , : )l B 5 ﬁ«w&?gaf@d 'S S EOD REI= z;a 0(3{@: z-r—w;p (()16%)
I3 -v' ' = e Fliy : = = M =

.U./'»LU A" r 3kg BeE A - = <§%W{ﬁ§3 002 32 - (%%BEJAM*E 6,200 M) (ﬁ%m&*& 5,292[) (§%%Aﬁ1§4968 )] (ﬁﬁaﬁﬁ*& 4,968m) {ﬁiﬁi&ﬁ*ﬁ 3,240M)




